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QUESTION 1

You have so many fields on a FlexCard that it looks cluttered. Based on best practices, what is the most efficient way to
declutter it? 

A. Use a child FlexCard 

B. Delete some of the actions 

C. Use a flyout action 

D. Use a datatable or chart element 

Correct Answer: C 

 

QUESTION 2

In an Integration Procedure, you need to perform a multi-step calculation on every element of an array. Based on best
practices, what two methods are recommended? 

Choose 2 answers 

A. Use a Calculation Action to call a Calculation Procedure. 

B. Use a Set Values Element inside a Loop Block. 

C. Use a List Action to merge the array elements together. 

D. Use a Matrix Action to call a Calculation Matrix 

Correct Answer: AD 

 

QUESTION 3

Why would you clone an Integration Procedure instead of versioning it? 

A. The new Integration Procedure is Chainable. 

B. The new Integration Procedure is replacing stub data. 

C. The new Integration Procedure uses a Cache Block. 

D. The new Integration Procedure will be used independently. 

Correct Answer: D 

 

QUESTION 4

What two advantages does a DataRaptor Turbo Extract have over a standard DataRaptor Extract? 
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Choose 2 answers 

A. It supports complex field mappings 

B. It is easier to configure 

C. It has better performance at runtime 

D. It populates data in PDF and DocuSign format 

Correct Answer: AC 

 

QUESTION 5

Which three are true about Calculation Matrix inputs? 

Choose 3 answers 

A. They can be a combination of values. 

B. They must contain numerical data. 

C. They can represent ranges. 

D. They must be unique. 

Correct Answer: ACD 

 

QUESTION 6

In a Calculation Procedure, what is required for the output of a Calculation Step to be used in an Aggregation Step? 

A. |t must be a calculation step 

B. It must be a matrix lookup step 

C. It must be included in the calculation output 

D. It must be included in constants 

Correct Answer: A 

 

QUESTION 7

Which of these checkboxes helps prevent a DataRaptor Load from creating duplicate records? 

A. Upsert Key 

B. s Disabled 

C. Is Lookup 
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D. Is Required For Upsert 

Correct Answer: A 

 

QUESTION 8

In this Integration Procedure structure, what Send JSON Path would you use to send the output of the Action1element
to a Remote Action? 

A. Action1.BlockB_BlockA 

B. BlockA.BlockB.Action1 

C. Action1:BlockB:BlockA 

D. BlockA:BlockB-Action1 

Correct Answer: C 

 

QUESTION 9

An OmniScript saves data to Salesforce and to an AWS Order Management system. What OmniScript element could
save all of this data? 

A. DataRaptor Post Action 
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B. Integration Procedure Action 

C. DataRaptor Load Action 

D. HTTP Action 

Correct Answer: B 

 

QUESTION 10

An OmniScript displays data from an API using an Integration Procedure, but some of the data is missing. What error
could cause this? 

Choose 2 answers 

A. The element name for the missing data does not match the JSON node key in the Integration Procedure Response. 

B. The Integration Procedure Preview Input Parameters do not match the JSON sent from the OmniScript. 

C. The JSON sent from the Integration Procedure Action does not match any of the Original Input for the Integration
Procedure. 

D. The missing data is trimmed in the Integration Procedure Action Response JSON Path. 

Correct Answer: AD 
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